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6. In case of any doubt or confusion in the Question Paper, the English version
will prevail.



318/MAY/210A 2

gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) This question paper consists of 50 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of

(a) Question Nos. 1 to 20—Multiple Choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions.

(v) Section—B consists of

(a) Question Nos. 36 to 42—Very Short Answer-type questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 43 to 48—Short Answer-type questions carrying
4 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 49 and 50—Long Answer-type questions carrying
6 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions.
You have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 50 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¢&

(iv) IÊS>—H$ ‘| em{‘b h¡

(H$) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ, {OZ‘| àË¶oH$ àíZ 1 A§H$ H$m h¡& àË¶oH$ àíZ
‘| {XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&

(I) àíZ g§»¶m 21 go 35 VH$ dñVw{Zð> àH$ma Ho$ àíZ, {OZ‘| àË¶oH$ àíZ 2 A§H$ H$m h¡
(1 A§H$ Ho$ 2 Cn^mJm| Ho$ gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm|
Ho$ CÎma X|&
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(v) IÊS>—I ‘| em{‘b h¡

(H$) àíZ g§»¶m 36 go 42, 2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 30 go 50

eãXm| ‘| XoZo h¢&

(I) àíZ g§»¶m 43 go 48, 4 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 50 go 80 eãXm|
‘| XoZo h¢&

(J) àíZ g§»¶m 49 Am¡a 50, 6 A§H$ Ho$ XrK©-CÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 80 go 120

eãXm| ‘| XoZo h¢&

BZ‘| go Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {X¶m J¶m h¡& AmnH$mo Eogo àíZm| ‘| {XE JE {dH$ënm| ‘| go
Ho$db EH$ H$m hr CÎma XoZm h¡&

SECTION—A

IÊS>—H$

1. The most commonly used measure of central tendency is

(A) arithmetic mean (B) median

(C) mode (D) quartile 1

g~go A{YH$ à¶moJ ‘| AmZo dmbr Ho$ÝÐr¶ àd¥{Îm H$m ‘mn h¡
(A) A§H$J{UVr¶ ‘mÜ¶ (B) ‘mpÜ¶H$m
(C) ~hþbH$ (D) MVwW©H$

2. The symbol  stands for

(A) mean deviation (B) standard deviation

(C) average deviation (D) step deviation 1

{M•  {H$gHo$ {bE à¶moJ ‘| AmVm h¡?
(A) ‘mÜ¶ {dMbZ (B) ‘mZH$ {dMbZ
(C) Am¡gV {dMbZ (D) nX {dMbZ

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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3. The distribution of output relates to which of the following central
problems? 1

(A) What to produce (B) How to produce

(C) For whom to produce (D) None of these

CËnmXZ H$m {dVaU {H$g Ho$ÝÐr¶ g‘ñ¶m go g§~§{YV h¡?

(A) ³¶m CËnmXZ {H$¶m OmE (B) H¡$go CËnmXZ {H$¶m Om¶

(C) {H$gHo$ {bE CËnmXZ {H$¶m OmE (D) BZ‘| go H$moB© Zht

4. Resources grow when their

(A) physical availability increases (B) quality improves

(C) Both (A) and (B) (D) Neither (A) nor (B) 1

g§gmYZm| ‘| d¥{Õ hmoVr h¡ O~ CZH$s

(A) ^m¡{VH$ CnbãYVm ~‹T>Vr h¡ (B) JwUdÎmm gwYaVr h¡

(C) (A) Am¡a (B) XmoZm| (D) Z Vmo (A) Am¡a Z hr (B)

5. Production possibility curve slopes

(A) downwards (B) upwards

(C) parallel to X-axis (D) parallel to Y-axis 1

CËnmXZ g§^mdZm dH«$ H$m T>mb hmoVm h¡

(A) ZrMo H$s Amoa (B) D$na H$s Amoa

(C) X-Aj Ho$ g‘mZm§Va (D) Y-Aj Ho$ g‘mZm§Va

6. When income changes, demand for a good

(A) may rise (B) may fall

(C) may rise or may fall (D) None of these 1

O~ Am¶ ‘| n[adV©Z hmoVm h¡, Vmo EH$ dñVw H$s ‘m±J

(A) ~‹T> gH$Vr h¡ (B) KQ> gH$Vr h¡

(C) ~‹T> gH$Vr h¡ ¶m KQ> ^r gH$Vr h¡ (D) BZ‘| go H$moB© Zht
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7. The measure of price elasticity of demand of a normal good

(A) is positive

(B) is negative

(C) can be positive or can be negative

(D) is perfectly elastic 1

EH$ gm‘mÝ¶ dñVw H$s ‘m±J H$s‘V bmoM H$m ‘mn hmoVm h¡

(A) gH$mamË‘H$

(B) ZH$mamË‘H$

(C) gH$mamË‘H$ ¶m ZH$mamË‘H$

(D) nyU©V¶m bmoMXma

8. The average fixed cost curve is

(A) parallel to X-axis (B) parallel to Y-axis

(C) downward sloping (D) upward sloping 1

Am¡gV pñWa bmJV dH«$ hmoVm h¡

(A) X-Aj Ho$ g‘mZm§Va (B) Y-Aj Ho$ g‘mZm§Va

(C) ZrMo H$s Amoa T>bdm± (D) D$na H$s Amoa T>bdm±

9. The law of supply is based on the assumption that supply changes only due
to change in

(A) price of the given good (B) cost

(C) price of other goods (D) All of these 1

ny{V© H$m {gÕm§V Bg nyd©YmaUm na AmYm[aV h¡ {H$ ny{V© ‘| n[adV©Z Ho$db _____ Ho$ n[adV©Z go
AmVm h¡&

(A) dñVw H$s AnZr H$s‘V (B) bmJV

(C) AÝ¶ dñVwAm| H$s H$s‘V (D) BZ‘| go g^r

10. The marginal cost curve is

(A) U-shaped (B) inverse U-shaped

(C) downward sloping (D) upward sloping 1

gr‘m§V bmJV dH«$ hmoVm h¡

(A) U-AmH$ma H$m (B) CëQ>m U-AmH$ma H$m

(C) ZrMo H$s Amoa T>bdm± (D) D$na H$s Amoa T>bdm±
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11. ‘Homogeneous product’ is the feature of

(A) perfect competition (B) monopoly

(C) monopolistic competition (D) oligopoly 1

"g‘ê$n CËnmX' {H$gH$s {deofVm h¡?

(A) nyU© à{V¶mo{JVm (B) EH$m{YH$ma

(C) EH$m{YH$m[aH$ à{V¶mo{JVm (D) Aënm{YH$ma

12. In case of excess demand of a product

(A) price rises (B) demand contracts

(C) supply expands (D) All of these 1

EH$ dñVw H$s ‘m±J-Am{Y³¶ H$m à^md hmoVm h¡

(A) H$s‘V ~‹T>Vr h¡ (B) ‘m±J ‘| g§Hw$MZ hmoVm h¡

(C) ny{V© ‘| {dñVma hmoVm h¡ (D) BZ‘| go g^r

13. ‘Group behaviour’ is the feature of

(A) oligopoly (B) monopolistic competition

(C) perfect competition (D) None of these 1

"J«wn ì¶dhma' {H$gH$s {deofVm h¡?

(A) Aënm{YH$ma (B) EH$m{YH$m[aH$ à{V¶mo{JVm

(C) nyU© à{V¶mo{JVm (D) BZ‘| go H$moB© Zht

14. Interest which is included in national income is the income of those who
provide funds to

(A) production units (B) individuals

(C) government (D) All of these 1

amï´>r¶ Am¶ ‘| em{‘b hmoZo dmbm ã¶mO CZH$s Am¶ h¡, Omo _____ H$mo F$U XoVo h¢&

(A) CËnmXZ BH$mB© (B) ì¶{º$

(C) gaH$ma (D) BZ‘| go g^r
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15. As per psychological law of consumption, as income increases,
consumption also increases but at a

(A) lower rate (B) higher rate

(C) same rate (D) Any one of these 1

Cn^moJ Ho$ ‘Zmod¡km{ZH$ {Z¶‘ Ho$ AZwgma, O¡go-O¡go Am¶ ~‹T>Vr h¡, Cn^moJ ^r ~‹T>Vm h¡ bo{H$Z

(A) H$‘ Xa na (B) A{YH$ Xa na

(C) Cgr Xa na (D) BZ‘| go H$moB© EH$

16. The value of multiplier equals

(A)
1

1 MPC
(B)

1

1 MPS

(C)
1

MPC
(D)

1

MPS 1
1

JwUH$ H$m ‘yë¶ {H$gHo$ g‘mZ hmoVm h¡?

(A)
1

1 MPC
(B)

1

1 MPS

(C)
1

MPC
(D)

1

MPS 1

17. The most important measure of money supply is

(A) M1 (B) M2

(C) M3 (D) M4 1

‘wÐm ny{V© H$m g~go ‘hÎdnyU© ‘mn h¡

(A) M1 (B) M2

(C) M3 (D) M4

18. Current account deposits are generally maintained by

(A) firms (B) households

(C) both firms and households (D) individuals 1

Mmby ImVm O‘m àm¶… H$m¡Z H$aVo h¢?

(A) ’$‘© (B) n[adma

(C) ’$‘© Am¡a n[adma XmoZm| (D) ì¶{º$
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19. Which one is direct tax? 1

(A) Value-added tax (B) GST

(C) Gift tax (D) Sales tax

BZ‘| go H$m¡Z-gm àË¶j H$a h¡?

(A) ‘yë¶-d¥{Õ H$a (B) Or0 Eg0 Q>r0

(C) Cnhma H$a (D) {~H«$s H$a

20. The major source of non-tax revenue of the government is

(A) commercial revenue (B) administrative revenue

(C) Both (A) and (B) (D) None of these 1

gaH$ma Ho$ J¡a-H$a amOñd H$m à‘wI òmoV h¡

(A) ì¶mnm[aH$ amOñd (B) àemg{ZH$ amOñd

(C) (A) Am¡a (B) XmoZm| (D) BZ‘| go H$moB© Zht

21. Fill in the blanks : 1×2=2

(a) Conventionally, index numbers are expressed in terms of _____.

(b) The value of base period in index number is _____.

Imbr ñWmZ ^[aE :

(H$) nmaån[aH$ Vm¡a na gyMH$m§H$ _____ ‘| ì¶º$ {H$¶m OmVm h¡&

(I) gyMH$m§H$ H$s AmYma Ad{Y H$m ‘yë¶ _____ hmoVm h¡&

22. Fill in the blanks : 2

Quartile is the measure which divides the distribution into _____ equal
parts, and so the number of quartiles is _____.

Imbr ñWmZ ^[aE :

MVwW©H$ dh ‘mn h¡, Omo ûm¥§Ibm H$mo _____ ^mJm| ‘| ~m±Q>Vm h¡ Am¡a Bg{bE MVwW©H$m| H$s g§»¶m
_____ hmoVr h¡&

23. Fill in the blanks : 2

_____ and _____ are the values of perfect correlation.

Imbr ñWmZ ^[aE :

_____ Am¡a _____ nyU© ghg§~§Y Ho$ ‘yë¶ h¢&
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24. Fill in the blanks : 2

When the quantity demanded of a good rises due to fall in _____ only,
it is called _____ of demand.

Imbr ñWmZ ^[aE :

O~ EH$ dñVw H$s ‘m±J H$s ‘mÌm ‘| d¥{Õ Ho$db _____ {JaZo Ho$ H$maU hmoVr h¡, Vmo Cg ‘m±J
H$mo _____ H$hVo h¢&

25. State True or False : 1×2=2

(a) Price elasticity of demand (–)2 is less than price elasticity of demand
(–)1.

(b) When price elasticity of demand is zero, it is called perfectly elastic
demand.

~VmBE ghr h¡ ¶m JbV :

(H$) ‘m±J H$s H$s‘V-bmoM (–)2, ‘m±J H$s H$s‘V-bmoM (–)1 go H$‘ h¡&

(I) O~ ‘m±J H$s H$s‘V-bmoM eyÝ¶ hmoVr h¡, Vmo ¶h nyU©V¶m bmoMXma ‘m±J H$hbmVr h¡&

26. State True or False : 1×2=2

(a) Rental value of a firm’s own office is explicit cost.

(b) Normal profit is part of economic cost.

~VmBE ghr h¡ ¶m JbV :

(H$) EH$ ’$‘© Ho$ AnZo ñdm{‘Ëd ‘| Am{’$g H$m {H$am¶m ‘yë¶ ñnï> bmJV h¡&

(I) gm‘mÝ¶ bm^ Am{W©H$ bmJV H$m ^mJ h¡&

27. Fill in the blanks : 1×2=2

(a) Implicit cost is also called _____ cost.

(b) Contraction in supply means _____ movement along the supply curve.

Imbr ñWmZ ^[aE :

(H$) A§V{Z©{hV bmJV H$mo _____ bmJV ^r H$hVo h¢&

(I) ny{V© ‘| g§Hw$MZ H$m AW© ny{V© dH«$ na _____ H$s Amoa MbZm h¡&
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28. Fill in the blanks : 2

Besides primary sector, other sectors of the economy are _____ and
_____ sectors.

Imbr ñWmZ ^[aE :

àmW{‘H$ joÌ Ho$ A{V[aº$, AW©ì¶dñWm Ho$ AÝ¶ joÌ _____ Am¡a _____ h¢&

29. State True or False : 1×2=2

(a) Indian Embassy in Nepal is part of domestic territory of Nepal.

(b) Machine purchased for installation in a factory is intermediate good.

~VmBE ghr h¡ ¶m JbV :

(H$) Zonmb ‘| ^maVr¶ XÿVmdmg Zonmb Ho$ Kaoby joÌ H$m ^mJ h¡&

(I) EH$ H$maImZo ‘| bJmZo hoVw ‘erZ H$s IarX ‘Ü¶dVu dñVw h¡&

30. State True or False : 1×2=2

(a) GNP is national income.

(b) GNP less GDP is net factor income from abroad.

~VmBE ghr h¡ ¶m JbV :

(H$) GNP amï´>r¶ Am¶ h¡&

(I) GNP ‘| go GDP KQ>mZo na {dXoem| go ewÕ H$maH$ Am¶ kmV hmoVr h¡&

31. Fill in the blanks : 2

In the context of inclusion in national income, vegetables purchased by
a hotel is a _____ product but when purchased by household is _____.

Imbr ñWmZ ^[aE :

amï´>r¶ Am¶ ‘| em{‘b H$aZo Ho$ g§X^© ‘|, EH$ hmoQ>b Ûmam IarXr J¶r gãOr _____ dñVw h¡, bo{H$Z
O~ Bgo EH$ n[adma IarXVm h¡, Vmo ¶h _____ dñVw ‘mZr OmVr h¡&
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32. Fill in the blanks : 2

The two parts of disposable income are _____ and _____.

Imbr ñWmZ ^[aE :

à¶moÁ¶ Am¶ Ho$ Xmo ^mJ _____ VWm _____ h¢&

33. Fill in the blanks : 1×2=2

(a) When change in income equals change in investment, the value of
multiplier is _____.

(b) The result of excess demand in an economy is _____.

Imbr ñWmZ ^[aE :

(H$) O~ Am¶ ‘| n[adV©Z Am¡a {Zdoe ‘| n[adV©Z EH$ g‘mZ hmo, Vmo JwUm§H$ H$m ‘yë¶ _____ hmoJm&

(I) AW©ì¶dñWm ‘| ‘m±J-Am{Y³¶ H$m n[aUm‘ _____ hmoVm h¡&

34. State True or False : 1×2=2

(a) Routine expenditure of government is plan expenditure.

(b) Regulation of wages is a fiscal measure.

~VmBE ghr h¡ ¶m JbV :

(H$) gaH$ma Ho$ amoO‘am© H$m ì¶¶ ¶moOZm-ì¶¶ h¡&

(I) ‘OXÿar H$m {Z¶‘Z amOH$mofr¶ Cnm¶ h¡&

35. Fill in the blanks : 2

The major sources of non-tax revenue of the Central Government are
_____ revenue and _____ revenue.

Imbr ñWmZ ^[aE :

Ho$ÝÐr¶ gaH$ma Ho$ J¡a-H$a amOñd Ho$ ‘w»¶ òmoV _____ amOñd VWm _____ amOñd h¢&
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SECTION—B

IÊS>—I

36. State the difference between linear correlation and non-linear correlation. 2

a¡{IH$ ghg§~§Y Am¡a J¡a-a¡{IH$ ghg§~§Y Ho$ ~rM A§Va ~VmBE&

37. Name two mathematical averages. 2

Xmo A§H$J{UVr¶ Am¡gVm| Ho$ Zm‘ ~VmBE&

Or / AWdm

State the formula for calculating mode.

~hþbH$ kmV H$aZo H$m ’$m‘y©bm ~VmBE&

38. Explain the purpose of index number issue in the construction of index
number. 2

gyMH$m§H$ Ho$ {Z‘m©U ‘| gyMH$m§H$ Ho$ CÔoí¶m| go g§~§{YV g‘ñ¶mE± g‘PmBE&

39. Name any two factors affecting market demand only. 2

Ho$db ~mµOma ‘m±J H$mo à^m{dV H$aZo dmbo H$moB© Xmo H$maH$ ~VmBE&

40. Explain the relation between ‘share of total expenditure’ on a good and its
price elasticity of demand. 2

EH$ dñVw na hmoZo dmbo "Hw$b ì¶¶ H$m ^mJ' Am¡a BgH$s H$s‘V ‘m±J bmoM Ho$ ~rM g§~§Y g‘PmBE&

Or / AWdm

State the formula for calculating price elasticity of demand through the
percentage method.

à{VeV {d{Y Ûmam H$s‘V ‘m±J bmoM kmV H$aZo H$m ’$m‘y©bm ~VmBE&

41. Explain private cost. 2

{ZOr bmJV g‘PmBE&

Or / AWdm

Explain social cost.

gm‘m{OH$ bmJV g‘PmBE&



42. How do ‘prices of inputs’ influence supply? 2

"AmJVm| H$s H$s‘V|' ny{V© H$mo H¡$go à^m{dV H$aVr h¢?

Or / AWdm

How does ‘technology of production’ influence supply?

"CËnmXZ VH$ZrH$' {H$g àH$ma ny{V© H$mo à^m{dV H$aVr h¡?

43. Draw a production possibility curve. Mark axes and curve clearly. What
does a point on the curve imply? 4

EH$ CËnmXZ g§^mdZm dH«$ ~ZmBE& Ajm| Am¡a dH«$ H$mo ñnï>V… {M{•V H$s{OE& EH$ dH«$ na H$moB© EH$
{~ÝXþ ³¶m {XImVm h¡?

44. Define ‘cross’ elasticity of demand. Suppose demand for a commodity falls
by 8% due to 4% fall in the price of its substitute, calculate ‘cross’
elasticity of demand. 4

‘m±J H$s "Am‹S>r' bmoM H$s n[a^mfm Xr{OE& ‘mZ br{OE EH$ dñVw H$s, ñWmZmnÞ dñVw H$s H$s‘V
4 à{VeV {Ja OmZo go, ‘m±J 8 à{VeV {Ja OmVr h¡, Vmo ‘m±J H$s "Am‹S>r' bmoM H$m n[aH$bZ H$s{OE&

45. A firm sells 70 units of a commodity at a price of R7 per unit. When price
rises by R1, he sells 80 units. Calculate price elasticity of supply. 4

EH$ ’$‘© R7 à{V BH$mB© na 70 BH$mB¶m± ~oMVm h¡& O~ H$s‘V ‘| R1 H$s d¥{Õ hmoVr h¡, Vmo dh
80 BH$mB¶m± ~oMVm h¡& ny{V© H$s H$s‘V bmoM H$m n[aH$bZ H$s{OE&

46. Draw a diagram showing national income equilibrium through
consumption and investment. Mark axes and curves clearly. 4

Cn^moJ Am¡a {Zdoe Ho$ AmYma na amï´>r¶ Am¶ H$m g§VwbZ {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm
dH«$m| H$mo ñnï>V… {M{•V H$s{OE&

Or / AWdm

If marginal propensity to save is 0·1 and change in national income is
R100, calculate increase in investment.

¶{X gr‘m§V ~MV àd¥{Îm 0·1 hmo Am¡a amï´>r¶ Am¶ ‘| d¥{Õ R100 hmo, Vmo {Zdoe ‘| d¥{Õ H$m n[aH$bZ
H$s{OE&
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47. Draw a diagram showing ‘excess demand’ of a product. Mark axes and
curves clearly. 4

EH$ CËnmX H$m "‘m±J-Am{Y³¶' {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm dH«$m| H$mo ñnï>V… {M{•V
H$s{OE&

Or / AWdm

Draw a diagram showing ‘excess supply’ of a product. Mark axes and
curves clearly.

EH$ CËnmX H$m "ny{V©-Am{Y³¶' {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm dH«$m| H$mo ñnï>V… {M{•V
H$s{OE&

48. Explain ‘lack of common unit of measurement’ as a demerit of barter
system. 4

dñVw-{d{Z‘¶ H$s H${R>ZmB© Ho$ ê$n ‘| "‘mn H$s gd©‘mÝ¶ BH$mB© H$m A^md' g‘PmBE&

Or / AWdm

Explain ‘providing employment opportunities’ of government budget.

gaH$mar ~OQ> Ho$ "amoOJma Ho$ Adga àXmZ' H$aZo H$m CÔoí¶ g‘PmBE&

49. The average income of three batches of workers having 10, 20 and 30
workers respectively, are R400, R300 and R200 respectively. Find the
combined average wage of all the 60 workers together. 6

‘OXÿam| Ho$ VrZ g‘yhm|, {OZ‘| H«$‘e… 10, 20 d 30 ‘OXÿa h¢, H$s Am¡gV Am¶ H«$‘e… R400,

R300 Am¡a R200 h¡& g^r 60 ‘OXÿam| H$s gm‘y{hH$ Am¡gV Am¶ H$m n[aH$bZ H$s{OE&

50. Explain any three precautions necessary for estimating national income
through the production method. 6

CËnmXZ {d{Y Ûmam amï´>r¶ Am¶ ‘mnZo ‘| AmZo dmbr H$moB© VrZ H${R>ZmB¶m± g‘PmBE&

Or / AWdm

Explain the steps in estimating national income by income method.

Am¶ {d{Y Ûmam amï´>r¶ Am¶ ‘mnZo ‘| {bE OmZo dmbo MaU g‘PmBE&


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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ v {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) This question paper consists of 50 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of

(a) Question Nos. 1 to 20—Multiple Choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions.

(v) Section—B consists of

(a) Question Nos. 36 to 42—Very Short Answer-type questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 43 to 48—Short Answer-type questions carrying
4 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 49 and 50—Long Answer-type questions carrying
6 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions.
You have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 50 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¢&

(iv) IÊS>—H$ ‘| em{‘b h¡

(H$) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ, {OZ‘| àË¶oH$ àíZ 1 A§H$ H$m h¡& àË¶oH$ àíZ
‘| {XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&

(I) àíZ g§»¶m 21 go 35 VH$ dñVw{Zð> àH$ma Ho$ àíZ, {OZ‘| àË¶oH$ àíZ 2 A§H$ H$m h¡
(1 A§H$ Ho$ 2 Cn^mJm| Ho$ gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm|
Ho$ CÎma X|&
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(v) IÊS>—I ‘| em{‘b h¡

(H$) àíZ g§»¶m 36 go 42, 2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 30 go 50

eãXm| ‘| XoZo h¢&

(I) àíZ g§»¶m 43 go 48, 4 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 50 go 80 eãXm|
‘| XoZo h¢&

(J) àíZ g§»¶m 49 Am¡a 50, 6 A§H$ Ho$ XrK©-CÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 80 go 120

eãXm| ‘| XoZo h¢&

BZ‘| go Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {X¶m J¶m h¡& AmnH$mo Eogo àíZm| ‘| {XE JE {dH$ënm| ‘| go
Ho$db EH$ H$m hr CÎma XoZm h¡&

SECTION—A

IÊS>—H$

1. Resources grow when their

(A) physical availability increases (B) quality improves

(C) Both (A) and (B) (D) Neither (A) nor (B) 1

g§gmYZm| ‘| d¥{Õ hmoVr h¡ O~ CZH$s
(A) ^m¡{VH$ CnbãYVm ~‹T>Vr h¡ (B) JwUdÎmm gwYaVr h¡
(C) (A) Am¡a (B) XmoZm| (D) Z Vmo (A) Am¡a Z hr (B)

2. The distribution of output relates to which of the following central
problems? 1

(A) What to produce (B) How to produce

(C) For whom to produce (D) None of these

CËnmXZ H$m {dVaU {H$g Ho$ÝÐr¶ g‘ñ¶m go g§~§{YV h¡?
(A) ³¶m CËnmXZ {H$¶m OmE (B) H¡$go CËnmXZ {H$¶m Om¶
(C) {H$gHo$ {bE CËnmXZ {H$¶m OmE (D) BZ‘| go H$moB© Zht

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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3. The symbol  stands for

(A) mean deviation (B) standard deviation

(C) average deviation (D) step deviation 1

{M•  {H$gHo$ {bE à¶moJ ‘| AmVm h¡?

(A) ‘mÜ¶ {dMbZ (B) ‘mZH$ {dMbZ

(C) Am¡gV {dMbZ (D) nX {dMbZ

4. The most commonly used measure of central tendency is

(A) arithmetic mean (B) median

(C) mode (D) quartile 1

g~go A{YH$ à¶moJ ‘| AmZo dmbr Ho$ÝÐr¶ àd¥{Îm H$m ‘mn h¡

(A) A§H$J{UVr¶ ‘mÜ¶ (B) ‘mpÜ¶H$m

(C) ~hþbH$ (D) MVwW©H$

5. The average fixed cost curve is

(A) parallel to X-axis (B) parallel to Y-axis

(C) downward sloping (D) upward sloping 1

Am¡gV pñWa bmJV dH«$ hmoVm h¡

(A) X-Aj Ho$ g‘mZm§Va (B) Y-Aj Ho$ g‘mZm§Va

(C) ZrMo H$s Amoa T>bdm± (D) D$na H$s Amoa T>bdm±

6. The measure of price elasticity of demand of a normal good

(A) is positive

(B) is negative

(C) can be positive or can be negative

(D) is perfectly elastic 1

EH$ gm‘mÝ¶ dñVw H$s ‘m±J H$s‘V bmoM H$m ‘mn hmoVm h¡

(A) gH$mamË‘H$

(B) ZH$mamË‘H$

(C) gH$mamË‘H$ ¶m ZH$mamË‘H$

(D) nyU©V¶m bmoMXma
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7. When income changes, demand for a good

(A) may rise (B) may fall

(C) may rise or may fall (D) None of these 1

O~ Am¶ ‘| n[adV©Z hmoVm h¡, Vmo EH$ dñVw H$s ‘m±J

(A) ~‹T> gH$Vr h¡ (B) KQ> gH$Vr h¡

(C) ~‹T> gH$Vr h¡ ¶m KQ> ^r gH$Vr h¡ (D) BZ‘| go H$moB© Zht

8. Production possibility curve slopes

(A) downwards (B) upwards

(C) parallel to X-axis (D) parallel to Y-axis 1

CËnmXZ g§^mdZm dH«$ H$m T>mb hmoVm h¡

(A) ZrMo H$s Amoa (B) D$na H$s Amoa

(C) X-Aj Ho$ g‘mZm§Va (D) Y-Aj Ho$ g‘mZm§Va

9. In case of excess demand of a product

(A) price rises (B) demand contracts

(C) supply expands (D) All of these 1

EH$ dñVw H$s ‘m±J-Am{Y³¶ H$m à^md hmoVm h¡

(A) H$s‘V ~‹T>Vr h¡ (B) ‘m±J ‘| g§Hw$MZ hmoVm h¡

(C) ny{V© ‘| {dñVma hmoVm h¡ (D) BZ‘| go g^r

10. ‘Homogeneous product’ is the feature of

(A) perfect competition (B) monopoly

(C) monopolistic competition (D) oligopoly 1

"g‘ê$n CËnmX' {H$gH$s {deofVm h¡?

(A) nyU© à{V¶mo{JVm (B) EH$m{YH$ma

(C) EH$m{YH$m[aH$ à{V¶mo{JVm (D) Aënm{YH$ma
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11. The marginal cost curve is

(A) U-shaped (B) inverse U-shaped

(C) downward sloping (D) upward sloping 1

gr‘m§V bmJV dH«$ hmoVm h¡

(A) U-AmH$ma H$m (B) CëQ>m U-AmH$ma H$m

(C) ZrMo H$s Amoa T>bdm± (D) D$na H$s Amoa T>bdm±

12. The law of supply is based on the assumption that supply changes only due
to change in

(A) price of the given good (B) cost

(C) price of other goods (D) All of these 1

ny{V© H$m {gÕm§V Bg nyd©YmaUm na AmYm[aV h¡ {H$ ny{V© ‘| n[adV©Z Ho$db _____ Ho$ n[adV©Z go
AmVm h¡&

(A) dñVw H$s AnZr H$s‘V (B) bmJV

(C) AÝ¶ dñVwAm| H$s H$s‘V (D) BZ‘| go g^r

13. The most important measure of money supply is

(A) M1 (B) M2

(C) M3 (D) M4 1

‘wÐm ny{V© H$m g~go ‘hÎdnyU© ‘mn h¡

(A) M1 (B) M2

(C) M3 (D) M4

14. Free treatment in a hospital is

(A) final expenditure (B) intermediate expenditure

(C) transfer expenditure (D) zero expenditure 1

AñnVmb ‘| ‘wâV CnMma h¡

(A) A§{V‘ ì¶¶ (B) ‘Ü¶dVu ì¶¶

(C) hñVm§VaU ì¶¶ (D) eyÝ¶ ì¶¶
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15. The value of multiplier equals

(A)
1

1 MPC
(B)

1

1 MPS

(C)
1

MPC
(D)

1

MPS 1
1

JwUH$ H$m ‘yë¶ {H$gHo$ g‘mZ hmoVm h¡?

(A)
1

1 MPC
(B)

1

1 MPS

(C)
1

MPC
(D)

1

MPS 1

16. As per psychological law of consumption, as income increases,
consumption also increases but at a

(A) lower rate (B) higher rate

(C) same rate (D) Any one of these 1

Cn^moJ Ho$ ‘Zmod¡km{ZH$ {Z¶‘ Ho$ AZwgma, O¡go-O¡go Am¶ ~‹T>Vr h¡, Cn^moJ ^r ~‹T>Vm h¡ bo{H$Z

(A) H$‘ Xa na (B) A{YH$ Xa na

(C) Cgr Xa na (D) BZ‘| go H$moB© EH$

17. ‘Group behaviour’ is the feature of

(A) oligopoly (B) monopolistic competition

(C) perfect competition (D) None of these 1

"J«wn ì¶dhma' {H$gH$s {deofVm h¡?

(A) Aënm{YH$ma (B) EH$m{YH$m[aH$ à{V¶mo{JVm

(C) nyU© à{V¶mo{JVm (D) BZ‘| go H$moB© Zht

18. The major source of non-tax revenue of the government is

(A) commercial revenue (B) administrative revenue

(C) Both (A) and (B) (D) None of these 1

gaH$ma Ho$ J¡a-H$a amOñd H$m à‘wI òmoV h¡

(A) ì¶mnm[aH$ amOñd (B) àemg{ZH$ amOñd

(C) (A) Am¡a (B) XmoZm| (D) BZ‘| go H$moB© Zht
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19. Current account deposits are generally maintained by

(A) firms (B) households

(C) both firms and households (D) individuals 1

Mmby ImVm O‘m àm¶… H$m¡Z H$aVo h¢?

(A) ’$‘© (B) n[adma

(C) ’$‘© Am¡a n[adma XmoZm| (D) ì¶{º$

20. Which one is direct tax? 1

(A) Value-added tax (B) GST

(C) Gift tax (D) Sales tax

BZ‘| go H$m¡Z-gm àË¶j H$a h¡?

(A) ‘yë¶-d¥{Õ H$a (B) Or0 Eg0 Q>r0

(C) Cnhma H$a (D) {~H«$s H$a

21. State True or False : 1×2=2

(a) Price elasticity of demand (–)2 is less than price elasticity of demand
(–)1.

(b) When price elasticity of demand is zero, it is called perfectly elastic
demand.

~VmBE ghr h¡ ¶m JbV :

(H$) ‘m±J H$s H$s‘V-bmoM (–)2, ‘m±J H$s H$s‘V-bmoM (–)1 go H$‘ h¡&

(I) O~ ‘m±J H$s H$s‘V-bmoM eyÝ¶ hmoVr h¡, Vmo ¶h nyU©V¶m bmoMXma ‘m±J H$hbmVr h¡&

22. Fill in the blanks : 2

_____ deviation is the most _____ measure of dispersion.

Imbr ñWmZ ^[aE :

_____ {dMbZ EH$ gdm©{YH$ _____ {dMbZ H$m ‘mn h¡&
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23. Fill in the blanks : 2

When the quantity demanded of a good rises due to fall in _____ only,
it is called _____ of demand.

Imbr ñWmZ ^[aE :

O~ EH$ dñVw H$s ‘m±J H$s ‘mÌm ‘| d¥{Õ Ho$db _____ {JaZo Ho$ H$maU hmoVr h¡, Vmo Cg ‘m±J
H$mo _____ H$hVo h¢&

24. Fill in the blanks : 2

_____ and _____ are the values of perfect correlation.

Imbr ñWmZ ^[aE :

_____ Am¡a _____ nyU© ghg§~§Y Ho$ ‘yë¶ h¢&

25. Fill in the blanks : 1×2=2

(a) Conventionally, index numbers are expressed in terms of _____.

(b) The value of base period in index number is _____.

Imbr ñWmZ ^[aE :

(H$) nmaån[aH$ Vm¡a na gyMH$m§H$ _____ ‘| ì¶º$ {H$¶m OmVm h¡&

(I) gyMH$m§H$ H$s AmYma Ad{Y H$m ‘yë¶ _____ hmoVm h¡&

26. State True or False : 1×2=2

(a) Indian Embassy in Nepal is part of domestic territory of Nepal.

(b) Machine purchased for installation in a factory is intermediate good.

~VmBE ghr h¡ ¶m JbV :

(H$) Zonmb ‘| ^maVr¶ XÿVmdmg Zonmb Ho$ Kaoby joÌ H$m ^mJ h¡&

(I) EH$ H$maImZo ‘| bJmZo hoVw ‘erZ H$s IarX ‘Ü¶dVu dñVw h¡&

27. Fill in the blanks : 2

Besides primary sector, other sectors of the economy are _____ and
_____ sectors.

Imbr ñWmZ ^[aE :

àmW{‘H$ joÌ Ho$ A{V[aº$, AW©ì¶dñWm Ho$ AÝ¶ joÌ _____ Am¡a _____ h¢&
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28. Fill in the blanks : 1×2=2

(a) Implicit cost is also called _____ cost.

(b) Contraction in supply means _____ movement along the supply curve.

Imbr ñWmZ ^[aE :

(H$) A§V{Z©{hV bmJV H$mo _____ bmJV ^r H$hVo h¢&

(I) ny{V© ‘| g§Hw$MZ H$m AW© ny{V© dH«$ na _____ H$s Amoa MbZm h¡&

29. State True or False : 1×2=2

(a) Rental value of a firm’s own office is explicit cost.

(b) Normal profit is part of economic cost.

~VmBE ghr h¡ ¶m JbV :

(H$) EH$ ’$‘© Ho$ AnZo ñdm{‘Ëd ‘| Am{’$g H$m {H$am¶m ‘yë¶ ñnï> bmJV h¡&

(I) gm‘mÝ¶ bm^ Am{W©H$ bmJV H$m ^mJ h¡&

30. Fill in the blanks : 2

In the context of inclusion in national income, vegetables purchased by
a hotel is a _____ product but when purchased by household is _____.

Imbr ñWmZ ^[aE :

amï´>r¶ Am¶ ‘| em{‘b H$aZo Ho$ g§X^© ‘|, EH$ hmoQ>b Ûmam IarXr J¶r gãOr _____ dñVw h¡, bo{H$Z
O~ Bgo EH$ n[adma IarXVm h¡, Vmo ¶h _____ dñVw ‘mZr OmVr h¡&

31. Fill in the blanks : 2

The two parts of disposable income are _____ and _____.

Imbr ñWmZ ^[aE :

à¶moÁ¶ Am¶ Ho$ Xmo ^mJ _____ VWm _____ h¢&
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32. State True or False : 1×2=2

(a) GNP is national income.

(b) GNP less GDP is net factor income from abroad.

~VmBE ghr h¡ ¶m JbV :

(H$) GNP amï´>r¶ Am¶ h¡&

(I) GNP ‘| go GDP KQ>mZo na {dXoem| go ewÕ H$maH$ Am¶ kmV hmoVr h¡&

33. State True or False : 1×2=2

(a) Routine expenditure of government is plan expenditure.

(b) Regulation of wages is a fiscal measure.

~VmBE ghr h¡ ¶m JbV :

(H$) gaH$ma Ho$ amoO‘am© H$m ì¶¶ ¶moOZm-ì¶¶ h¡&

(I) ‘OXÿar H$m {Z¶‘Z amOH$mofr¶ Cnm¶ h¡&

34. Fill in the blanks : 2

The major sources of non-tax revenue of the Central Government are
_____ revenue and _____ revenue.

Imbr ñWmZ ^[aE :

Ho$ÝÐr¶ gaH$ma Ho$ J¡a-H$a amOñd Ho$ ‘w»¶ òmoV _____ amOñd VWm _____ amOñd h¢&

35. Fill in the blanks : 1×2=2

(a) When change in income equals change in investment, the value of
multiplier is _____.

(b) The result of excess demand in an economy is _____.

Imbr ñWmZ ^[aE :

(H$) O~ Am¶ ‘| n[adV©Z Am¡a {Zdoe ‘| n[adV©Z EH$ g‘mZ hmo, Vmo JwUm§H$ H$m ‘yë¶ _____ hmoJm&

(I) AW©ì¶dñWm ‘| ‘m±J-Am{Y³¶ H$m n[aUm‘ _____ hmoVm h¡&
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SECTION—B

IÊS>—I

36. State the formula of calculating standard deviation in case of a continuous
series. 2

AI§{S>V ûm¥§Ibm ‘| ‘mZH$ {dMbZ H$m n[aH$bZ H$aZo H$m gyÌ ~VmBE&

37. Explain the relation between ‘share of total expenditure’ on a good and its
price elasticity of demand. 2

EH$ dñVw na hmoZo dmbo "Hw$b ì¶¶ H$m ^mJ' Am¡a BgH$s H$s‘V ‘m±J bmoM Ho$ ~rM g§~§Y g‘PmBE&

Or / AWdm

State the formula for calculating price elasticity of demand through the
percentage method.

à{VeV {d{Y Ûmam H$s‘V ‘m±J bmoM kmV H$aZo H$m ’$m‘y©bm ~VmBE&

38. Explain ‘selection of items’ issue in the construction of index numbers. 2

gyMH$m§H$m| Ho$ {Z‘m©U ‘| "‘Xm| H$m MwZmd' g‘ñ¶m g‘PmBE&

39. Explain the meaning of ‘increase’ in demand. 2

‘m±J ‘| "d¥{Õ' H$m AW© ~VmBE&

40. Name two mathematical averages. 2

Xmo A§H$J{UVr¶ Am¡gVm| Ho$ Zm‘ ~VmBE&

Or / AWdm

State the formula for calculating mode.

~hþbH$ kmV H$aZo H$m ’$m‘y©bm ~VmBE&

41. Give an example of opportunity cost. 2

Adga bmJV H$m EH$ CXmhaU Xr{OE&

Or / AWdm

With an example, explain social cost.

EH$ CXmhaU Ûmam gm‘m{OH$ bmJV H$s ì¶m»¶m H$s{OE&



42. Explain how ‘objective of a firm’ influences supply. 2

g‘PmBE {H$ "’$‘© H$m CÔoí¶' {H$g àH$ma ny{V© H$mo à^m{dV H$aVm h¡&

Or / AWdm

How do ‘prices of inputs’ influence supply?

"AmJVm| H$s H$s‘V|' ny{V© H$mo H¡$go à^m{dV H$aVr h¢?

43. Explain ‘for whom to produce’ central problem of an economy. 4

AW©ì¶dñWm H$s "{H$gHo$ {bE CËnmXZ {H$¶m Om¶' Ho$ÝÐr¶ g‘ñ¶m g‘PmBE&

44. A consumer buys 20 units of a good at a price of R5 per unit. When price
falls by R2, consumer buys 12 units more. Calculate the price elasticity
of demand. 4

EH$ Cn^moº$m R5 à{V BH$mB© na 20 BH$mB¶m± IarXVm h¡& O~ H$s‘V R2 {Ja OmVr h¡, dh
12 BH$mB¶m± A{YH$ IarXVm h¡& ‘m±J H$s H$s‘V bmoM H$m n[aH$bZ H$s{OE&

45. Draw two diagrams of supply curves showing (a) unitary elasticity of
supply and (b) perfectly inelastic supply. Mark curves and axes clearly. 4

(H$) BH$mB© Ho$ g‘mZ ny{V© bmoM VWm (I) nyU©V¶m ~obmoM ny{V© {XImVo hþE Xmo ny{V© dH«$m| Ho$ Xmo aoIm-
{MÌ ~ZmBE& Ajm| Am¡a dH«$m| H$mo ñnï>V… {M{•V H$s{OE&

46. Draw a diagram showing ‘excess demand’ of a product. Mark axes and
curves clearly. 4

EH$ CËnmX H$m "‘m±J-Am{Y³¶' {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm dH«$m| H$mo ñnï>V… {M{•V
H$s{OE&

Or / AWdm

Draw a diagram showing ‘excess supply’ of a product. Mark axes and
curves clearly.

EH$ CËnmX H$m "ny{V©-Am{Y³¶' {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm dH«$m| H$mo ñnï>V… {M{•V
H$s{OE&
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47. Explain ‘lack of common unit of measurement’ as a demerit of barter
system. 4

dñVw-{d{Z‘¶ H$s H${R>ZmB© Ho$ ê$n ‘| "‘mn H$s gd©‘mÝ¶ BH$mB© H$m A^md' g‘PmBE&

Or / AWdm

Explain ‘providing employment opportunities’ of government budget.

gaH$mar ~OQ> Ho$ "amoOJma Ho$ Adga àXmZ' H$aZo H$m CÔoí¶ g‘PmBE&

48. Draw a diagram showing national income equilibrium through
consumption and investment. Mark axes and curves clearly. 4

Cn^moJ Am¡a {Zdoe Ho$ AmYma na amï´>r¶ Am¶ H$m g§VwbZ {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm
dH«$m| H$mo ñnï>V… {M{•V H$s{OE&

Or / AWdm

If marginal propensity to save is 0·1 and change in national income is
R100, calculate increase in investment.

¶{X gr‘m§V ~MV àd¥{Îm 0·1 hmo Am¡a amï´>r¶ Am¶ ‘| d¥{Õ R100 hmo, Vmo {Zdoe ‘| d¥{Õ H$m n[aH$bZ
H$s{OE&

49. Explain any three precautions necessary for estimating national income
through the production method. 6

CËnmXZ {d{Y Ûmam amï´>r¶ Am¶ ‘mnZo ‘| AmZo dmbr H$moB© VrZ H${R>ZmB¶m± g‘PmBE&

Or / AWdm

Explain the steps in estimating national income by income method.

Am¶ {d{Y Ûmam amï´>r¶ Am¶ ‘mnZo ‘| {bE OmZo dmbo MaU g‘PmBE&

50. The average income of three batches of workers having 10, 20 and 30
workers respectively, are R400, R300 and R200 respectively. Find the
combined average wage of all the 60 workers together. 6

‘OXÿam| Ho$ VrZ g‘yhm|, {OZ‘| H«$‘e… 10, 20 d 30 ‘OXÿa h¢, H$s Am¡gV Am¶ H«$‘e… R400,

R300 Am¡a R200 h¡& g^r 60 ‘OXÿam| H$s gm‘y{hH$ Am¡gV Am¶ H$m n[aH$bZ H$s{OE&


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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ w {bI|&

5. (H$) n«íZ-nÌ Ho$db {hÝXr/A§J«oOr ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma Xo
gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&
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Note  : (i) This question paper consists of 50 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of

(a) Question Nos. 1 to 20—Multiple Choice-type questions (MCQs)
carrying 1 mark each. Select and write the most appropriate option
out of the four options given in each of these questions.

(b) Question Nos. 21 to 35—Objective-type questions carrying 2 marks
each (with 2 sub-parts of 1 mark each). Attempt these questions as
per the instructions given for each of the questions.

(v) Section—B consists of

(a) Question Nos. 36 to 42—Very Short Answer-type questions carrying
2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 43 to 48—Short Answer-type questions carrying
4 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 49 and 50—Long Answer-type questions carrying
6 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions.
You have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 50 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ A§H$ CgHo$ gm‘Zo {XE JE h¢&

(iv) IÊS>—H$ ‘| em{‘b h¡

(H$) àíZ g§»¶m 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ, {OZ‘| àË¶oH$ àíZ 1 A§H$ H$m h¡& àË¶oH$ àíZ
‘| {XE JE Mma {dH$ënm| ‘| go g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&

(I) àíZ g§»¶m 21 go 35 VH$ dñVw{Zð> àH$ma Ho$ àíZ, {OZ‘| àË¶oH$ àíZ 2 A§H$ H$m h¡
(1 A§H$ Ho$ 2 Cn^mJm| Ho$ gmW)& àË¶oH$ àíZ Ho$ {bE {XE JE {ZX}em| Ho$ AZwgma BZ àíZm|
Ho$ CÎma X|&
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(v) IÊS>—I ‘| em{‘b h¡

(H$) àíZ g§»¶m 36 go 42, 2 A§H$ Ho$ A{V bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 30 go 50

eãXm| ‘| XoZo h¢&

(I) àíZ g§»¶m 43 go 48, 4 A§H$ Ho$ bKyÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 50 go 80 eãXm|
‘| XoZo h¢&

(J) àíZ g§»¶m 49 Am¡a 50, 6 A§H$ Ho$ XrK©-CÎmar¶ àH$ma Ho$ àíZ, {OZHo$ CÎma 80 go 120

eãXm| ‘| XoZo h¢&

BZ‘| go Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën {X¶m J¶m h¡& AmnH$mo Eogo àíZm| ‘| {XE JE {dH$ënm| ‘| go
Ho$db EH$ H$m hr CÎma XoZm h¡&

SECTION—A

IÊS>—H$

1. The symbol  stands for

(A) mean deviation (B) standard deviation

(C) average deviation (D) step deviation 1

{M•  {H$gHo$ {bE à¶moJ ‘| AmVm h¡?
(A) ‘mÜ¶ {dMbZ (B) ‘mZH$ {dMbZ
(C) Am¡gV {dMbZ (D) nX {dMbZ

2. The most commonly used measure of central tendency is

(A) arithmetic mean (B) median

(C) mode (D) quartile 1

g~go A{YH$ à¶moJ ‘| AmZo dmbr Ho$ÝÐr¶ àd¥{Îm H$m ‘mn h¡
(A) A§H$J{UVr¶ ‘mÜ¶ (B) ‘mpÜ¶H$m
(C) ~hþbH$ (D) MVwW©H$

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a Bg Ad{Y
Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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3. Resources grow when their

(A) physical availability increases (B) quality improves

(C) Both (A) and (B) (D) Neither (A) nor (B) 1

g§gmYZm| ‘| d¥{Õ hmoVr h¡ O~ CZH$s

(A) ^m¡{VH$ CnbãYVm ~‹T>Vr h¡ (B) JwUdÎmm gwYaVr h¡

(C) (A) Am¡a (B) XmoZm| (D) Z Vmo (A) Am¡a Z hr (B)

4. The distribution of output relates to which of the following central
problems? 1

(A) What to produce (B) How to produce

(C) For whom to produce (D) None of these

CËnmXZ H$m {dVaU {H$g Ho$ÝÐr¶ g‘ñ¶m go g§~§{YV h¡?

(A) ³¶m CËnmXZ {H$¶m OmE (B) H¡$go CËnmXZ {H$¶m Om¶

(C) {H$gHo$ {bE CËnmXZ {H$¶m OmE (D) BZ‘| go H$moB© Zht

5. The measure of price elasticity of demand of a normal good

(A) is positive

(B) is negative

(C) can be positive or can be negative

(D) is perfectly elastic 1

EH$ gm‘mÝ¶ dñVw H$s ‘m±J H$s‘V bmoM H$m ‘mn hmoVm h¡

(A) gH$mamË‘H$

(B) ZH$mamË‘H$

(C) gH$mamË‘H$ ¶m ZH$mamË‘H$

(D) nyU©V¶m bmoMXma

6. When income changes, demand for a good

(A) may rise (B) may fall

(C) may rise or may fall (D) None of these 1

O~ Am¶ ‘| n[adV©Z hmoVm h¡, Vmo EH$ dñVw H$s ‘m±J

(A) ~‹T> gH$Vr h¡ (B) KQ> gH$Vr h¡

(C) ~‹T> gH$Vr h¡ ¶m KQ> ^r gH$Vr h¡ (D) BZ‘| go H$moB© Zht
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7. Production possibility curve slopes

(A) downwards (B) upwards

(C) parallel to X-axis (D) parallel to Y-axis 1

CËnmXZ g§^mdZm dH«$ H$m T>mb hmoVm h¡

(A) ZrMo H$s Amoa (B) D$na H$s Amoa

(C) X-Aj Ho$ g‘mZm§Va (D) Y-Aj Ho$ g‘mZm§Va

8. The average fixed cost curve is

(A) parallel to X-axis (B) parallel to Y-axis

(C) downward sloping (D) upward sloping 1

Am¡gV pñWa bmJV dH«$ hmoVm h¡

(A) X-Aj Ho$ g‘mZm§Va (B) Y-Aj Ho$ g‘mZm§Va

(C) ZrMo H$s Amoa T>bdm± (D) D$na H$s Amoa T>bdm±

9. In case of excess demand of a product

(A) price rises (B) demand contracts

(C) supply expands (D) All of these 1

EH$ dñVw H$s ‘m±J-Am{Y³¶ H$m à^md hmoVm h¡

(A) H$s‘V ~‹T>Vr h¡ (B) ‘m±J ‘| g§Hw$MZ hmoVm h¡

(C) ny{V© ‘| {dñVma hmoVm h¡ (D) BZ‘| go g^r

10. The law of supply is based on the assumption that supply changes only due
to change in

(A) price of the given good (B) cost

(C) price of other goods (D) All of these 1

ny{V© H$m {gÕm§V Bg nyd©YmaUm na AmYm[aV h¡ {H$ ny{V© ‘| n[adV©Z Ho$db _____ Ho$ n[adV©Z go
AmVm h¡&

(A) dñVw H$s AnZr H$s‘V (B) bmJV

(C) AÝ¶ dñVwAm| H$s H$s‘V (D) BZ‘| go g^r
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11. The marginal cost curve is

(A) U-shaped (B) inverse U-shaped

(C) downward sloping (D) upward sloping 1

gr‘m§V bmJV dH«$ hmoVm h¡

(A) U-AmH$ma H$m (B) CëQ>m U-AmH$ma H$m

(C) ZrMo H$s Amoa T>bdm± (D) D$na H$s Amoa T>bdm±

12. ‘Homogeneous product’ is the feature of

(A) perfect competition (B) monopoly

(C) monopolistic competition (D) oligopoly 1

"g‘ê$n CËnmX' {H$gH$s {deofVm h¡?

(A) nyU© à{V¶mo{JVm (B) EH$m{YH$ma

(C) EH$m{YH$m[aH$ à{V¶mo{JVm (D) Aënm{YH$ma

13. The most important measure of money supply is

(A) M1 (B) M2

(C) M3 (D) M4 1

‘wÐm ny{V© H$m g~go ‘hÎdnyU© ‘mn h¡

(A) M1 (B) M2

(C) M3 (D) M4

14. Festival gifts to workers by a firm are

(A) factor payment (B) wage payment

(C) transfer payment (D) bonus payment 1

EH$ ’$‘© Ûmam l{‘H$m| H$mo {X¶m J¶m Ë¶mohma Cnhma H$hbmVm h¡

(A) H$maH$ ^wJVmZ (B) ‘OXÿar ^wJVmZ

(C) hñVm§VaU ^wJVmZ (D) ~moZg ^wJVmZ
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15. As per psychological law of consumption, as income increases,
consumption also increases but at a

(A) lower rate (B) higher rate

(C) same rate (D) Any one of these 1

Cn^moJ Ho$ ‘Zmod¡km{ZH$ {Z¶‘ Ho$ AZwgma, O¡go-O¡go Am¶ ~‹T>Vr h¡, Cn^moJ ^r ~‹T>Vm h¡ bo{H$Z

(A) H$‘ Xa na (B) A{YH$ Xa na

(C) Cgr Xa na (D) BZ‘| go H$moB© EH$

16. ‘Group behaviour’ is the feature of

(A) oligopoly (B) monopolistic competition

(C) perfect competition (D) None of these 1

"J«wn ì¶dhma' {H$gH$s {deofVm h¡?

(A) Aënm{YH$ma (B) EH$m{YH$m[aH$ à{V¶mo{JVm

(C) nyU© à{V¶mo{JVm (D) BZ‘| go H$moB© Zht

17. The value of multiplier equals

(A)
1

1 MPC
(B)

1

1 MPS

(C)
1

MPC
(D)

1

MPS 1
1

JwUH$ H$m ‘yë¶ {H$gHo$ g‘mZ hmoVm h¡?

(A)
1

1 MPC
(B)

1

1 MPS

(C)
1

MPC
(D)

1

MPS 1

18. Which one is direct tax? 1

(A) Value-added tax (B) GST

(C) Gift tax (D) Sales tax

BZ‘| go H$m¡Z-gm àË¶j H$a h¡?

(A) ‘yë¶-d¥{Õ H$a (B) Or0 Eg0 Q>r0

(C) Cnhma H$a (D) {~H«$s H$a
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19. The major source of non-tax revenue of the government is

(A) commercial revenue (B) administrative revenue

(C) Both (A) and (B) (D) None of these 1

gaH$ma Ho$ J¡a-H$a amOñd H$m à‘wI òmoV h¡

(A) ì¶mnm[aH$ amOñd (B) àemg{ZH$ amOñd

(C) (A) Am¡a (B) XmoZm| (D) BZ‘| go H$moB© Zht

20. Current account deposits are generally maintained by

(A) firms (B) households

(C) both firms and households (D) individuals 1

Mmby ImVm O‘m àm¶… H$m¡Z H$aVo h¢?

(A) ’$‘© (B) n[adma

(C) ’$‘© Am¡a n[adma XmoZm| (D) ì¶{º$

21. Fill in the blanks : 2

When the quantity demanded of a good rises due to fall in _____ only,
it is called _____ of demand.

Imbr ñWmZ ^[aE :

O~ EH$ dñVw H$s ‘m±J H$s ‘mÌm ‘| d¥{Õ Ho$db _____ {JaZo Ho$ H$maU hmoVr h¡, Vmo Cg ‘m±J
H$mo _____ H$hVo h¢&

22. Fill in the blanks : 2

Range is the difference between the _____ and _____ value in a
distribution.

Imbr ñWmZ ^[aE :

{H$gr ^r loUr ‘| g~go _____ Am¡a g~go _____ ‘yë¶ Ho$ A§Va H$mo {dñVma H$hVo h¢&

23. Fill in the blanks : 1×2=2

(a) Conventionally, index numbers are expressed in terms of _____.

(b) The value of base period in index number is _____.

Imbr ñWmZ ^[aE :

(H$) nmaån[aH$ Vm¡a na gyMH$m§H$ _____ ‘| ì¶º$ {H$¶m OmVm h¡&

(I) gyMH$m§H$ H$s AmYma Ad{Y H$m ‘yë¶ _____ hmoVm h¡&
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24. State True or False : 1×2=2

(a) Price elasticity of demand (–)2 is less than price elasticity of demand
(–)1.

(b) When price elasticity of demand is zero, it is called perfectly elastic
demand.

~VmBE ghr h¡ ¶m JbV :

(H$) ‘m±J H$s H$s‘V-bmoM (–)2, ‘m±J H$s H$s‘V-bmoM (–)1 go H$‘ h¡&

(I) O~ ‘m±J H$s H$s‘V-bmoM eyÝ¶ hmoVr h¡, Vmo ¶h nyU©V¶m bmoMXma ‘m±J H$hbmVr h¡&

25. Fill in the blanks : 2

_____ and _____ are the values of perfect correlation.

Imbr ñWmZ ^[aE :

_____ Am¡a _____ nyU© ghg§~§Y Ho$ ‘yë¶ h¢&

26. Fill in the blanks : 2

Besides primary sector, other sectors of the economy are _____ and
_____ sectors.

Imbr ñWmZ ^[aE :

àmW{‘H$ joÌ Ho$ A{V[aº$, AW©ì¶dñWm Ho$ AÝ¶ joÌ _____ Am¡a _____ h¢&

27. State True or False : 1×2=2

(a) Rental value of a firm’s own office is explicit cost.

(b) Normal profit is part of economic cost.

~VmBE ghr h¡ ¶m JbV :

(H$) EH$ ’$‘© Ho$ AnZo ñdm{‘Ëd ‘| Am{’$g H$m {H$am¶m ‘yë¶ ñnï> bmJV h¡&

(I) gm‘mÝ¶ bm^ Am{W©H$ bmJV H$m ^mJ h¡&
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28. State True or False : 1×2=2

(a) Indian Embassy in Nepal is part of domestic territory of Nepal.

(b) Machine purchased for installation in a factory is intermediate good.

~VmBE ghr h¡ ¶m JbV :

(H$) Zonmb ‘| ^maVr¶ XÿVmdmg Zonmb Ho$ Kaoby joÌ H$m ^mJ h¡&

(I) EH$ H$maImZo ‘| bJmZo hoVw ‘erZ H$s IarX ‘Ü¶dVu dñVw h¡&

29. Fill in the blanks : 1×2=2

(a) Implicit cost is also called _____ cost.

(b) Contraction in supply means _____ movement along the supply curve.

Imbr ñWmZ ^[aE :

(H$) A§V{Z©{hV bmJV H$mo _____ bmJV ^r H$hVo h¢&

(I) ny{V© ‘| g§Hw$MZ H$m AW© ny{V© dH«$ na _____ H$s Amoa MbZm h¡&

30. Fill in the blanks : 2

The two parts of disposable income are _____ and _____.

Imbr ñWmZ ^[aE :

à¶moÁ¶ Am¶ Ho$ Xmo ^mJ _____ VWm _____ h¢&

31. State True or False : 1×2=2

(a) GNP is national income.

(b) GNP less GDP is net factor income from abroad.

~VmBE ghr h¡ ¶m JbV :

(H$) GNP amï´>r¶ Am¶ h¡&

(I) GNP ‘| go GDP KQ>mZo na {dXoem| go ewÕ H$maH$ Am¶ kmV hmoVr h¡&
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32. Fill in the blanks : 1×2=2

(a) When change in income equals change in investment, the value of
multiplier is _____.

(b) The result of excess demand in an economy is _____.

Imbr ñWmZ ^[aE :

(H$) O~ Am¶ ‘| n[adV©Z Am¡a {Zdoe ‘| n[adV©Z EH$ g‘mZ hmo, Vmo JwUm§H$ H$m ‘yë¶ _____ hmoJm&

(I) AW©ì¶dñWm ‘| ‘m±J-Am{Y³¶ H$m n[aUm‘ _____ hmoVm h¡&

33. Fill in the blanks : 2

The major sources of non-tax revenue of the Central Government are
_____ revenue and _____ revenue.

Imbr ñWmZ ^[aE :

Ho$ÝÐr¶ gaH$ma Ho$ J¡a-H$a amOñd Ho$ ‘w»¶ òmoV _____ amOñd VWm _____ amOñd h¢&

34. State True or False : 1×2=2

(a) Routine expenditure of government is plan expenditure.

(b) Regulation of wages is a fiscal measure.

~VmBE ghr h¡ ¶m JbV :

(H$) gaH$ma Ho$ amoO‘am© H$m ì¶¶ ¶moOZm-ì¶¶ h¡&

(I) ‘OXÿar H$m {Z¶‘Z amOH$mofr¶ Cnm¶ h¡&

35. Fill in the blanks : 2

In the context of inclusion in national income, vegetables purchased by
a hotel is a _____ product but when purchased by household is _____.

Imbr ñWmZ ^[aE :

amï´>r¶ Am¶ ‘| em{‘b H$aZo Ho$ g§X^© ‘|, EH$ hmoQ>b Ûmam IarXr J¶r gãOr _____ dñVw h¡, bo{H$Z
O~ Bgo EH$ n[adma IarXVm h¡, Vmo ¶h _____ dñVw ‘mZr OmVr h¡&
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SECTION—B

IÊS>—I

36. State the formula of calculating standard deviation by the assumed mean
method. 2

H$pënV ‘mÜ¶ {d{Y Ûmam ‘mZH$ {dMbZ Ho$ n[aH$bZ H$m gyÌ ~VmBE&

37. Name two mathematical averages. 2

Xmo A§H$J{UVr¶ Am¡gVm| Ho$ Zm‘ ~VmBE&

Or / AWdm

State the formula for calculating mode.

~hþbH$ kmV H$aZo H$m ’$m‘y©bm ~VmBE&

38. Explain ‘assignment of weights’ issue in the construction of an index
number. 2

EH$ gyMH$m§H$ Ho$ {Z‘m©U ‘| "^ma {ZYm©aU' H${R>ZmB© g‘PmBE&

39. Explain the meaning of ‘decrease’ in demand. 2

‘m±J ‘| "H$‘r' H$m AW© g‘PmBE&

40. Explain the relation between ‘share of total expenditure’ on a good and its
price elasticity of demand. 2

EH$ dñVw na hmoZo dmbo "Hw$b ì¶¶ H$m ^mJ' Am¡a BgH$s H$s‘V ‘m±J bmoM Ho$ ~rM g§~§Y g‘PmBE&

Or / AWdm

State the formula for calculating price elasticity of demand through the
percentage method.

à{VeV {d{Y Ûmam H$s‘V ‘m±J bmoM kmV H$aZo H$m ’$m‘y©bm ~VmBE&

41. Explain social cost. 2

gm‘m{OH$ bmJV g‘PmBE&

Or / AWdm

Explain private cost with an example.

EH$ CXmhaU Ûmam {ZOr bmJV g‘PmBE&



42. Explain the meaning of individual supply curve. 2

ì¶{º$JV ny{V© dH«$ H$m AW© g‘PmBE&

Or / AWdm

State any two determinants of supply.

ny{V© H$mo à^m{dV H$aZo dmbo {H$Ýht Xmo VÎdm| H$mo {b{IE&

43. Explain the central problem ‘how to produce’. 4

"H¡$go CËnmXZ {H$¶m Om¶' Ho$ÝÐr¶ g‘ñ¶m g‘PmBE&

44. A consumer buys 22 units of a good at a price of R11 per unit. When
price falls, he buys 8 units more. Price elasticity of demand is (–)4.
Calculate how much the fall is in price. 4

EH$ Cn^moº$m EH$ dñVw H$s 22 BH$mB¶m± R11 à{V BH$mB© na IarXVm h¡& O~ H$s‘V {JaVr h¡, Vmo
8 BH$mB¶m± A{YH$ IarXVm h¡& ‘m±J H$s H$s‘V bmoM (–)4 h¡& kmV H$s{OE {H$ H$s‘V ‘| {H$VZr H$‘r
AmVr h¡&

45. A firm supplies 50 units of a good at a price of R10 per unit. When price
falls by R2, the firm supplies less. Price elasticity of supply is 1. Calculate
how much less the firm supplies. 4

EH$ ’$‘© R10 à{V BH$mB© na 50 BH$mB¶m| H$s ny{V© H$aVm h¡& O~ H$s‘V R2 {Ja OmVr h¡, ’$‘©
H$‘ ny{V© H$aVm h¡& ny{V© H$s H$s‘V bmoM 1 h¡& kmV H$s{OE {H$ ’$‘© {H$VZr H$‘ ny{V© H$aVm h¡&

46. Explain ‘lack of common unit of measurement’ as a demerit of barter
system. 4

dñVw-{d{Z‘¶ H$s H${R>ZmB© Ho$ ê$n ‘| "‘mn H$s gd©‘mÝ¶ BH$mB© H$m A^md' g‘PmBE&

Or / AWdm

Explain ‘providing employment opportunities’ of government budget.

gaH$mar ~OQ> Ho$ "amoOJma Ho$ Adga àXmZ' H$aZo H$m CÔoí¶ g‘PmBE&
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47. Draw a diagram showing national income equilibrium through
consumption and investment. Mark axes and curves clearly. 4

Cn^moJ Am¡a {Zdoe Ho$ AmYma na amï´>r¶ Am¶ H$m g§VwbZ {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm
dH«$m| H$mo ñnï>V… {M{•V H$s{OE&

Or / AWdm

If marginal propensity to save is 0·1 and change in national income is
R100, calculate increase in investment.

¶{X gr‘m§V ~MV àd¥{Îm 0·1 hmo Am¡a amï´>r¶ Am¶ ‘| d¥{Õ R100 hmo, Vmo {Zdoe ‘| d¥{Õ H$m n[aH$bZ
H$s{OE&

48. Draw a diagram showing ‘excess demand’ of a product. Mark axes and
curves clearly. 4

EH$ CËnmX H$m "‘m±J-Am{Y³¶' {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm dH«$m| H$mo ñnï>V… {M{•V
H$s{OE&

Or / AWdm

Draw a diagram showing ‘excess supply’ of a product. Mark axes and
curves clearly.

EH$ CËnmX H$m "ny{V©-Am{Y³¶' {XImVo hþE EH$ aoIm{MÌ ~ZmBE& Ajm| VWm dH«$m| H$mo ñnï>V… {M{•V
H$s{OE&

49. The average income of three batches of workers having 10, 20 and 30
workers respectively, are R400, R300 and R200 respectively. Find the
combined average wage of all the 60 workers together. 6

‘OXÿam| Ho$ VrZ g‘yhm|, {OZ‘| H«$‘e… 10, 20 d 30 ‘OXÿa h¢, H$s Am¡gV Am¶ H«$‘e… R400,

R300 Am¡a R200 h¡& g^r 60 ‘OXÿam| H$s gm‘y{hH$ Am¡gV Am¶ H$m n[aH$bZ H$s{OE&

50. Explain any three precautions necessary for estimating national income
through the production method. 6

CËnmXZ {d{Y Ûmam amï´>r¶ Am¶ ‘mnZo ‘| AmZo dmbr H$moB© VrZ H${R>ZmB¶m± g‘PmBE&

Or / AWdm

Explain the steps in estimating national income by income method.

Am¶ {d{Y Ûmam amï´>r¶ Am¶ ‘mnZo ‘| {bE OmZo dmbo MaU g‘PmBE&


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